MASTERACK
@ ASSEMBLY / INSTALLATION INSTRUCTIONS

TAILOR FIT FOR A JOB DONE RIGHT

350 Technology, Pkwy Ste 400,
Peachiree Corners, GA 30092
Phone: 1-800-222-8785
www.masterack.com

(ALUMINIUM CORE SHELVINGS 46"’ & 60” MODULE)

Recommended Tools

Airor Hand Ratchet QA\
716" ComboWrench \

TorqueWrench e o

Hardware

1/4-20x 3/4 1/4-20x 1-1/4
Hex Head Screw Hex Head Screw

716" Socket g

1/4 20x 2-1/2
Hex Head Screw Grd 8
(USED WITH PLUSNUT TOOL)

©Cc o0 O

1/4-20 1/4x1-1/2
E-Stop Nut Lock washer Flat washer Fender washer
//:\>
/ g
#SRT25PB280 #C500-25 Collar
PRE-BULB PLUSNUT PLUSNUT TOOL 3/4 IDx1”70Dx3/8 THK

Reinforced
T-Bracket

Top Attachment
Bracket Bracket

Side Attachment

PN

TAPERED MODULES 46"

TAPERED MODULES 60”

Review this document to ensure that all parts and hardware

are included in the package, before installation.
In the event that parts are missing please contact

Masterack @ 1-800-222-8785, to re-order missing parts.

Page 1 of 12

- RM470417 Rev 1


http://www.masterack.com/

350 Technology, Pkwy Ste 400,

& MASTERACK. _ a0 Technology vy sl 400

TAILOR FIT FOR A JOB DONE RIGHT EXPLODED VIEW Phone: 1-800-222-8785
www.masterack.com

TOP SHELF

BOTTOM SHELVES

UPRIGHTS (1)

FLOOR BRACE

PN - RM470417 Rev 1 Page 2 of 12


http://www.masterack.com/

& MASTERACK.

TAILOR FIT FOR A JOB DONE RIGHT

350 Technology, Pkwy Ste 400,
Peachiree Corners, GA 30092

Phone: 1-800-222-8785
| COMPONENTS I www.masterack.com

FLOOR BRACE
@ @ TOOL DROP TRAY

@ TAPERED UPRIGHT (SET OF 2)

@ BOTTOM SHELVES

PN - RM470417 Rev 1 Page 3 of 12


http://www.masterack.com/

& MASTERACK

TAILOR FIT FOR A JOB DONE RIGHT

350 Technology, Pkwy Ste 400,
Peachiree Corners, GA 30092
Phone: 1-800-222-8785
www.masterack.com

UPRIGHTS FLOOR BRACE BOTTOM SHELVES TOOL DROP TRA
SHELVING MODULE @
(L & R SET)
46-INCH-TALL MODULES
OALUO38KP [46H x 43W x 16D] 0ALUO66 0ALUO042 0ALUO41 —QTY. 2 OALUO069
OALUO48KP [46H x 37W x 16D] 0ALUO66 0ALU049 0ALUO50 — QTY. 2 0ALUO53
OALUO44KP [46H x 43W x 12D] 0ALUO6S8 0ALUO042 OALUO40 —QTY. 2 OALUO46
0ALUO52KP [46H x 37W x 12D] 0ALU068 0ALU049 0ALUO51 — QTY. 2 0ALU003
60-INCH-TALL MODULES
0ALUO5S4KP [60H x 43W x 16D] 0ALUO67 0ALU042 0ALUO41 - QTY. 3 0ALUO69
OALUO57KP [60H x 37W x 16D] 0ALUO67 0ALUO049 OALUO50 - QTY. 3 OALUO53

PN - RM470417 Rev 1

Page 4 of 12


http://www.masterack.com/

350 Technology, Pkwy Ste 400,

& MASTERACK. a0 Technology vy sl 400

TAILOR FIT FOR A JOB DONE RIGHT Phone: 1-800-222-8785
www.masterack.com

ATTACHING FLOOR BRACE

Attach as shown using:
(4) 1/4-20 x 3/4 Hex Head Screws
(4) 1/4-20 E-Stop Nuts

TORQUE SETTING:
Size - 1/4=7-9.5 Ft.-Lbs.

PN - RM470417 Rev 1 Page 50f 12


http://www.masterack.com/

350 Technology, Pkwy Ste 400,

K MASTERACK a0 Technelogy,twy ie 00

TAILOR FIT FOR A JOB DONE RIGHT Phone: 1-800-222-8785
www.masterack.com

ATTACHING BOTTOM SHELF

Attach Shelf as shown, using:
(8) 1/4-20 x 3/4 Hex Head Screws
(8) 1/4-20 E-Stop Nuts

TORQUE SETTING:
Size —1/4=7-9.5 Ft.-Lbs. @ 17th
HOLE
(FROM BOTTOM)

PN - RM470417 Rev 1 Page 6 of 12


http://www.masterack.com/

& MASTERACK

TAILOR FIT FOR A JOB DONE RIGHT

ATTACHING
REMAINING SHELVES

Attaching (2) Shelves as shown, using:
(16) 1/4-20 x 3/4 Hex Head Screws
(16) 1/4-20 E-Stop Nuts

TORQUE SETTING:
Size = 1/4=7-9.5 Ft.-Lbs.

NOTE:
SHELVES ARE ADJUSTABLE TO FIT REQUIRED NEED.

MOUNTING LOCATIONS SHOWN ARE STANDARD
MOUNTING LOCATIONS 12 INCHES APART.

APPLICABLE TO 46’ MODULES

PN - RM470417 Rev 1

350 Technology, Pkwy Ste 400,
Peachiree Corners, GA 30092
Phone: 1-800-222-8785
www.masterack.com

@ 415T

e Lot

/ (FROM BOTTOM)

@ 29TH

AN
HOLE

(FROM BOTTOM)

Page 7 of 12


http://www.masterack.com/

K MASTERACK

TAILOR FIT FOR A JOB DONE RIGHT

ATTACHING
REMAINING SHELVES

Attaching (3) Shelves as shown, using:
(20) 1/4-20 x 3/4 Hex Head Screws
(20) 1/4-20 E-Stop Nuts

TORQUE SETTING:
Size - 1/4=7-9.5 Ft.-Lbs.

NOTE:

MOUNTING LOCATIONS SHOWN ARE STANDARD
MOUNTING LOCATIONS 12 INCHES APART.

SHELVES ARE ADJUSTABLE TO FIT REQUIRED NEED.

APPLICABLE TO 60"’ MODULES

PN - RM470417 Rev 1

350 Technology, Pkwy Ste 400,
Peachiree Corners, GA 30092
Phone: 1-800-222-8785
www.masterack.com

- @ 41$T
~N<" hote

_#  (FROM BOTTOM)

@ 29TH
HOLE
(FROM BOTTOM)

Page 8 of 12


http://www.masterack.com/

350 Technology, Pkwy Ste 400,
Peachiree Corners, GA 30092

D MASTERACK

TAILOR FIT FOR A JOB DONE RIGHT

Phone: 1-800-222-8785
www.masterack.com

STANDARD INSTALLATION

Drill a 25/64 hole
and install Plusnut

With module properly positioned in desired
location in vehicle, attach brackets loosely at the
locations shown. Mark and drill 25/64 holes to
install Plusnuts and secure as shown using:
(1) 1/4-20 x 1 1/4 Hex Head Screws
(1) 1/4-20 Lock Washer

AT EACH MOUNTING LOCATON

BEFORE DRILLING

CHECK ALL MOUNTING LOCATIONS TO PREVENT PENETRATING
GAS LINES, GAS TANKS, BRAKE LINES, WIRING OR ANY OTHER STRUCTURE OF VEHICLE

VAN
MOUNTING BRACKET

: "; 1/4-20 x 3/4 Hex Head Screw
- N 1/4-20 E-Stop Nut
(TYP)

VAN
MOUNTING BRACKET

“'ln
. N

TORQUE SETTING:
Size - 1/4=7-9.5 Ft.-Lbs.

[TOP BRACKET MOUNTING
TO THESE HOLES FOR 60"

MODULE

SIDE BRACKET MOUNTING
21.74” FROM BOTTOM FOR TRANSIT
31.24” FROM BOTTOM FOR PROMASTER

ITOP BRACKET MOUNTING

TO THESE HOLES FOR 46”
MODULE

PN - RM470417 Rev 1 Page 9 of 12


http://www.masterack.com/

350 Technology, Pkwy Ste 400,

(<X>\ MASTERACK. Feachires Comers, G 30072
Phone: 1-800-222-8785
[AILORFITFORAIOB DONERIGHT STANDARD INSTALLATION T-BRACKET www mosterack.com

Please read this entire instruction sheet before working on your
vehicle and observe the following safety considerations at all times
while installing the T-Bracket:

‘Wear safely glasses af &l times during installation!
Carefully examine behind any drilling bocatlon for any electical wiring. Use a drill stop

if necessary to prevent drill bits from penetratng roof or sids body panels

Figure 2

STEP 1 »
Mark four pilot holes in the upper side rib using the T-Bracket (ltem 1) as & o D Y=
template. Remove the T-Bracket and drill 3/8 pilot holes. Install (4) PRE-BULE A |
PLUSNUTS (ltem 2)in the /8" pilot holes . Use a 1/4-20 X 2-1/2" screw (ltem 4) 5 ‘3 ' ‘ \\\‘
o set the plusnut. SEe PAGE15 for detailed PLUSNUT installation. L QF —
I STEP 2
HEQLIl!'-Ed Tﬂﬂlﬁ- Attach the T-Bracket using (4) 1/4-20 X 3/4" screw (ltem 5). See
Elactric Drill Figure 2
3/8" drill bit
38" dnill stop
716" wrench ket ke
' wren or s0C Connect the attachment brace through the middie of the T-bracket
using (1) 1/4-20 X 3/4" screw and (1) 1/4-20 elastic stop nut. See
Figure 3.

Figure 3

PN - RM470417 Rev 1 Page 10 of 12


http://www.masterack.com/

350 Technology, Pkwy Ste 400,
Peachiree Corners, GA 30092

& MASTERACK

TAILOR FIT FOR A JOB DONE RIGHT

STANDARD INSTALLATION

Phone: 1-800-222-8785
www.masterack.com

Hole Saw

Floor Mat

NOTE:

Using a 1-1/8” Hole Saw specially made for mat cutting, hole saw out all
holes in the mat making sure to align hole saw with pre drilled holes. Make
sure not to drill through the metal floor of the van. Once drilled clear out
each area of excess debris

9/32 Drilled Hole

/ 1/4-20x 1-1/4

Hex Head Grd 8 Screw

1/4-20 Flat Washer

1” 0.D. x .375 THK Floor Spacer
/NOTE: SPACER ONLY USED WHEN MOUNTING

> LOCATION FALL IN A VALLEY IN THE FLOOR

///

9/32 Drilled Hole
(Place etching primer on exposed metal)

!

(e

Fender Washer

MOUNTING THROUGH FLOOR
(WHERE SPACE PERMITS UNDER VEHICLE)

CHECK ALL MOUNTING LOCATIONS TO PREVENT PENETRATING

BEFORE DRILLING

GAS LINES, GAS TANKS, BRAKE LINES, WIRING OR ANY OTHER STRUCTURE OF VEHICLE

o, oo
27 !“r‘u el !
*dab® ol o
4 MOUNTING LOCATIONS
“-t‘ o -l‘
1% |os s lo|T 4
*y — — — .N.

With module properly positioned attach module to floor of vehicle

Using either method described below.

NOTE: SPACER ONLY USED WHEN MOUNTING LOCATION FALL IN A VALLEY IN THE FLOOR

. = Installed Plusnut
d 7.4

g

1/4-20x 1-1/4
i iﬂx Head Grd 8 Screw
1/4-20 Flat Washer

1/4-20 Flat Washer

1” 0.D. x .375 THK Floor Spacer
NOTE: SPACER ONLY USED WHEN MOUNTING
LOCATION FALL IN A VALLEY IN THE FLOOR

////

#

MOUNTING WITH PLUSNUT
(LIMITED SPACE UNDER VEHICLE)

(SEE PAGE 14 FOR PLUSNUT INSTALLATION)

PN - RM470417 Rev 1

Page 11 of 12


http://www.masterack.com/

/(& M AST E R AC I‘( p— — 350 Technology, Pkwy Ste 400,

Peachiree Corners, GA 30092
TAILOR FIT FOR A JOB DONE RIGHT BEFORE DR"'LING

Phone: 1-800-222-8785
CHECK ALL MOUNTING LOCATIONS TO PREVENT PENETRATING St e e
GAS LINES, GAS TANKS, BRAKE LINES, WIRING OR ANY OTHER STRUCTURE OF VEHICLE

l ‘ W }Nﬂ{iﬂﬂ USE DRILL STOP TO PREVENT
i VT . DAMAGING VEHICLE

DRILLSTOP
DRILL CHUCK

The Plusnut® is pre-bulbed for easy installation g The Plusnut® is pre-assembled with hex cap and hex bolt.
Then it is inserted into a pre-drilled hole

As the bolt is tightened, the Plusnut® upsets | tigh bolt thru hex head ) |
and provides outstanding 4 \ C-500 tool tightens bolt thru hex head cap into Plusnut® A
blind fastening holding power ratchet, open-end or closed —end wrench can be used.
¥ \
CHECK EACH BOLT LOCATION
to ensure they are tightened to the specified
Fully upset Plusnut® provides A5 .
: . \ torque setting.

a reliable nut plate for fastening. & %

il

v,
A

”
vy st i 17

Vo s# A )

=P

TORQUE SETTING:
Size — 1/4A GRD 5 = 7- 9.6 Ft.-Lbs.
Size — 1/4 GRD 8 = 10- 13.5 Ft -l bs. Page 12 of 12

PN - RM470417 Rev 1



http://www.masterack.com/

